Apartment in Birkirkara



Reference No: 240041072-161

Birkirkara, Central



€292,000

Total Rooms: 7

Bathrooms: 2

Floor Area (m²): **101**

Bedrooms: 2

Apartment - For Sale - Birkirkara

Santa Venera - Fleur De Lys First Floor Apartment. This well-planned apartment offers a practical layout and great potential for both residential use and rental investment. Internal Area: $93m^2$, External Area: $9m^2$ (front and back balconies). Layout: 2 bedrooms (main with en-suite), a dedicated study room, a main bathroom, and balconies at both the front and back. The property is being sold finished (excluding internal doors and bathrooms) with a completion date set for December 2026. An ideal investment opportunity, it has the potential to be split into two units, making it a versatile addition to any property portfolio.

Features

- Ceramic Floor
- Balcony

En Suite

Rooms

- Kitchen/Living/Dining : 2.8 x 7.25 m (20.3 m2)
- ✓ Hallway : 1 x 15 m (15 m2)
- Double Bedroom : 3.04 x 3 m (9.12 m2)
- ✓ Bathroom: 1.67 x 2.15 m (3.59 m2)
- Office / Study : 3.03 x 2.65 m (8.03 m2)
- ✓ Double Bedroom : 3.4 x 4.2 m (14.28 m2)
- Bathroom Ensuite : 0.9 x 3.1 m (2.79 m2)
- Open Space : 1 x 4.2 m (4.2 m2)
- Open Space : 1 x 2 m (2 m2)
- Laundry: 1.7 x 1.2 m (2.04 m2)

Gallery





Darryl Joseph VellaRE/MAX Park Estates - St Paul's Bay

M: 99845631

E: dvella@remax.com.mt

T: 21579747

RE/MAX Park Estates - St Paul's Bay

Park Estates Ltd, Mosta Road, St Paul's Bay, Malta